Porter, Banks, Baldwin & Shaw, PLLC

327 MAIN STREET P.O. DRAWER 1767 PAINTSVILLE, KY 41240 TAX ID#81-4822291

May 11, 2022 S00020-00001 CHENOWETH, GRANT 58113

SPENCER COUNTY BOARD OF EDUCATION 110 REASOR AVENUE TAYLORSVILLE, KY 40071 chuck.abell@spencer.kyschools.us greg.murphy@spencer.kyschools.us

SPENCER COUNTY BOARD OF EDUCATION - GENERAL MATTERS

PROFESSIONAL SERVICES

04 01 2022	GC	REVIEW EMAIL FROM D. THOMAS RE EMPLOYEE REQUEST FOR HEARING, AND PREPARE RESPONSE	0.20 hrs @ 150	/hr	30.00
04 01 2022	GC	REVIEW EMAIL FROM D. THOMAS RE PERSONNEL MATTER AND PLANNED RECORDS OF EMPLOYEE	0.10 hrs @ 150	/hr	15.00
04 02 2022	GC	EXCHANGE CORRESPONDENCE WITH D. THOMAS RE PERSONNEL MATTER	0.10 hrs @ 150	/hr	15.00
04 03 2022	GC	BEGIN PREPARING RESPONSE TO OPEN RECORDS APPEAL	0.40 hrs @ 150	/hr	60.00
04 03 2022	GC	PREPARE EMAIL TO D. THOMAS RE OPEN RECORDS APPEAL	0.10 hrs @ 150	/hr	15.00
04 04 2022	GC	FINISH PREPARING RESPONSE TO OPEN RECORDS APPEAL	0.30 hrs @ 150	/hr	45.00
04 04 2022	GC	PREPARE EMAIL TO D. THOMAS RE OPEN MEETINGS APPEAL	0.10 hrs @ 150	/hr	15.00
04 04 2022	GC	PREPARE TERMINATION LETTER RELATING TO AWOL EMPLOYEE	0.20 hrs @ 150	/hr	30.00
04 04 2022	GC	EXCHANGE CORRESPONDENCE WITH D. THOMAS RE AWOL EMPLOYEE	0.30 hrs @ 150	/hr	45.00
04 04 2022	GC	REVIEW EMAILS FROM D. THOMAS WITH WITNESS STATEMENTS RELATING TO PERSONNEL MATTER	0.40 hrs @ 150	/hr	60.00

S00020 - 00001

04 04 2022	GC	REVIEW VIDEO CLIPS FROM D. THOMAS IN RELATION TO PENDING PERSONNEL HEARING	0.40 hrs @ 150	/hr	60.00
04 05 2022	GC	TELE. CALL FROM D. THOMAS RE SEVERAL PERSONNEL MATTERS	0.50 hrs @ 150	/hr	75.00
04 05 2022	GC	TELE. CALL FROM ACTING SUPT. ABELL RE PERSONNEL HEARING REQUEST	0.20 hrs @ 150	/hr	30.00
04 05 2022	GC	REVIEW EMAIL AND DOCUMENTS FROM PARENT RE OPEN RECORDS APPEAL	0.30 hrs @ 150	/hr	45.00
04 06 2022	GC	REVIEW EMAIL FROM D. THOMAS RE PERSONNEL MATTER	0.10 hrs @ 150	/hr	15.00
04 06 2022	GC	REVIEW ADDITIONAL CORRESPONDENCE FROM PARENT TO OAG RE APPEAL	0.10 hrs @ 150	/hr	15.00
04 06 2022	GC	REVIEW CORRESPONDENCE FROM D. THOMAS RE OPEN RECORDS APPEAL ISSUE	0.10 hrs @ 150	/hr	15.00
04 06 2022	GC	PREPARE EMAIL TO ATTY. JOYCE MERRITT RE HEARING OFFICER SERVICES AND REVIEW RESPONSE	0.10 hrs @ 150	/hr	15.00
04 07 2022	GC	PREPARE EMAIL TO ACTING SUPT. ABELL RE OPEN RECORDS APPEAL	0.10 hrs @ 150	/hr	15.00
04 08 2022	GC	EXCHANGE EMAILS WITH ATTY. HENRY RE PERSONNEL HEARING	0.20 hrs @ 150	/hr	30.00
04 12 2022	GC	PREPARE CORRESPONDENCE TO ATTY. PARSONS RE STATUS OF REPORT	0.10 hrs @ 150	/hr	15.00
04 12 2022	GC	PREPARE CORRESPONDENCE TO HEARING OFFICER MERRITT AND ATTORNEYS LARSON AND HENRY RE HEARING PREPARATION	0.10 hrs @ 150	/hr	15.00
04 12 2022	GC	REVIEW CORRESPONDENCE FROM D. THOMAS RE PERSONNEL MATTERS	0.10 hrs @ 150	/hr	15.00
04 12 2022	GC	REVIEW CORRESPONDENCE FROM ATTY. JACKSON RE RESOLUTION OF LITIGATION	0.10 hrs @ 150	/hr	15.00
04 12 2022	GC	PREPARE CORRESPONDENCE TO ATTY. JACKSON RE STATUS OF DISCOVERY IN ONGOING LITIGATION	0.20 hrs @ 150	/hr	30.00
04 13 2022	GC	TELE. CALL FROM ACTING SUPT. ABELL RE PERSONNEL MATTER	0.10 hrs @ 150	/hr	15.00
04 13 2022	GC	EXCHANGE CORRESPONDENCE WITH ACTING SUPT. ABELL AND D. THOMAS RE EMPLOYEE REQUEST	0.20 hrs @ 150	/hr	30.00

S00020 - 00001

04 13 2022	GC	PREPARE EMAIL TO D. THOMAS RE PERSONNEL MATTER AND HEARING PREPARATION	0.10 hrs @ 150	/hr	15.00
04 13 2022	GC	REVIEW CORRESPONDENCE FROM D. THOMAS RE UNEMPLOYMENT INSURANCE APPEAL HEARING	0.20 hrs @ 150	/hr	30.00
04 13 2022	GC	REVIEW CORRESPONDENCE FROM D. THOMAS RE STUDENT RECORD MATTER	0.10 hrs @ 150	/hr	15.00
04 14 2022	GC	PREPARE CORRESPONDENCE TO OAG RE OPEN RECORDS APPEAL	0.10 hrs @ 150	/hr	15.00
04 15 2022	GC	CONFERENCE CALL WITH ATTY. LARSON AND HEARING OFFICER MERRITT RE HEARING PREPARATION	0.20 hrs @ 150	/hr	30.00
04 15 2022	GC	PREPARE CORRESPONDENCE TO D. THOMAS RE HEARING PREPARATION	0.20 hrs @ 150	/hr	30.00
04 15 2022	GC	REVIEW CORRESPONDENCE FROM AAG HERRICK RE OPEN RECORDS APPEAL	0.10 hrs @ 150	/hr	15.00
04 18 2022	GC	TELE. CALL FROM ATTY. PARSONS RE CONCLUSION OF INVESTIGATION	0.20 hrs @ 150	/hr	30.00
04 18 2022	GC	REVIEW CORRESPONDENCE FROM ATTY. PARSONS RE INVESTIGATIVE REPORT	0.10 hrs @ 150	/hr	15.00
04 18 2022	GC	TELE. CALL TO ACTING SUPT. ABELL RE PREPARATION FOR PERSONNEL HEARING	0.20 hrs @ 150	/hr	30.00
04 19 2022	GC	REVIEW EMAIL AND PERSONNEL RECORDS FROM D. THOMAS	0.30 hrs @ 150	/hr	45.00
04 19 2022	GC	PREPARE EMAIL TO ATTY. LARSON RE RELEASE FOR PERSONNEL RECORDS	0.10 hrs @ 150	/hr	15.00
04 19 2022	GC	REVIEW ORDER FROM HEARING OFFICER MERRITT RE PERSONNEL HEARING	0.10 hrs @ 150	/hr	15.00
04 19 2022	GC	REVIEW UNEMPLOYMENT QUESTION FROM D. THOMAS AND PREPARE RESPONSE	0.10 hrs @ 150	/hr	15.00
04 20 2022	GC	EXCHANGE CORRESPONDENCE WITH D. THOMAS RE PERSONNEL REPORT TO BOARD	0.10 hrs @ 150	/hr	15.00
04 20 2022	GC	REVIEW EMAIL FROM M. BARLOW RE AGENDA PREPARATION	0.10 hrs @ 150	/hr	15.00
04 20 2022	GC	PREPARE EMAIL TO BD. CHAIR SHELBURNE RE BOARD MEETING PREPARATION	0.10 hrs @ 150	/hr	15.00

AND D. THOMAS RE MULTIPLE PERSONNEL

S00020	- 00001
000020	- 00001

MATTERS	AND RE	PROPERTY	MATTERS
		FINOFERIN	

04 27 2022	GC	EXCHANGE EMAILS WITH ATTY. LARS	O.10 hrs @ 150	/hr	15.00
04 28 2022	GC	TELE. CALL FROM ATTY. LARSON RE POTENTIAL RESOLUTION	0.10 hrs @ 150	/hr	15.00
04 29 2022	GC	REVIEW EXHIBITS PRIOR TO WITNES PREPARATION MEETING	S 0.40 hrs @ 150	/hr	60.00
04 29 2022	GC	TRAVEL TO/FROM BOARD OFFICE FO WITNESS PREP. MEETING	R 1.40 hrs @ 150	/hr	210.00
04 29 2022	GC	MEET WITH ACTING SUPT. ABELL ANI OTHERS TO PREPARE FOR CLASSIFI EMPLOYEE HEARING	6	/hr	150.00
04 29 2022	GC	EXCHANGE CORRESPONDENCE WITH ATTY. LARSON AND HEARING OFFICE MERRITT RE EMPLOYEE'S WITHDRAW OF HEARING REQUEST AND CANCELLATION OF HEARING	ER C	/hr	30.00
04 29 2022	GC	TELE. CALL FROM HEARING OFFICER MERRITT CONFIRMING CANCELLATION HEARING	\mathbf{C}	/hr	15.00
04 29 2022	GC	EXCHANGE CORRESPONDENCE WITH ACTING SUPT. ABELL AND D. THOMAS EMPLOYEE'S WITHDRAWAL OF REQU FOR HEARING	S RE	/hr	15.00
			Total Professional Services	z·	2 235 00

DISBURSEMENTS

04 29 2022	TT	TRAVEL EXPENSE TO BOARD OFFICE	31.01
------------	----	--------------------------------	-------

Total Disbursements: \$31.01

BILL SUMMARY

TOTAL PROFESSIONAL SERVICES	\$2,235.00
TOTAL DISBURSEMENTS	+\$31.01
TOTAL CURRENT CHARGES	\$2,266.01